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Class Exercise #3 – NE Quadrant 
Calculations and Notes 
 

Length of Need (X) 

X =   

ଷ଴	ା	ቀ భ
భమ
ቁ	ൈ	ሺଶଷ.ଵଶହሻ	ି	ସ

ቀ భ
భమ
ቁ	ା	ቀ యబ

భఴఱ
ቁ

ൌ 113.76′ 

 

Guardrail Length 

Using a Guardrail Approach Terminal, Type 2M with        

Guardrail, Type MGS‐8 in this case 

 

Min. Guardrail Length = 113.76’ – 23.125’ – 34.3’ = 56.34’ 

 

However, the MGS (9’‐4.5”) beam element and thrie‐beam 

transition panel must be considered due to T‐1 anchorage 

 

 # of 12.5’ panels = ( 
ହ଺.ଷସିଽ.ଷ଻ହି଺.ଶହ

ଵଶ.ହ
) = 3.26   →   4 panels 

     Type MGS‐8 guardrail length = (12.5)(4) + 9.375 + 6.25 

                                                  = 65.625 feet 



Reflectors 

# of reflectors = (
଺ହ.଺ଶହ	ା	ଶଷ.ଵଶହ

ହ଴
) +1 = 2.78  →  round up to 3 

*** But two‐way roads require reflectors facing both sides *** 

 # of reflectors = 3 x 2 = 6 reflectors 

 

 

Stations 

Station A = (346+78) + 23.125’ ≈ 347+01.1 

Station B = (346+78) + 23.125 + 65.625’ ≈ 347+66.8 

 

 

Calculating  Z 

Zformula = (113.76 – 23.125 – 34.3) × (
ଵ

ଵଶ
) + 4 = 8.69’ 

Zactual   = L2 + (DistanceB‐A) × (
௕

௔
)   

   = 4 + (65.625) × (
ଵ

ଵଶ
) = 9.47’  




